			Advanced Computer Concepts, Inc. McLean, VA		AJE Networks, LLC Rockville, MD		
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$1,092.27	\$21,845.40	\$1,250.00	\$25,000.00
TOTAL LUMP SUM (Item No. 1)			\$21,	845.40	\$25,0	00.00	

<sup>\*</sup>Corrected calculations based on unit pricing

## Remarks/Exceptions:

Advanced Computer Concepts, Inc. - Delivery/Services can be performed no later than 30 calendar days from receipt of order.

Please Note that the IT hardware, software, or services on this quote may be subject to additional license agreements per the original equipment manufacturer (OEM).

AJE Networks, LLC - Delivery/Services can be performed no later than <u>60</u> calendar days from receipt of order.

Per the RFQ point no 17, the above quoted price does not include sales Tax.

Ter the rer Q point no 17, the above quoted price does not include sales 1 ax.			Clark Computer Services Hagerstown, MD		Cyber Drreams, LLC Atlantic City, NJ		
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$1,354.04	\$27,080.80	\$980.69	\$19,613.80
TOTAL LUMP SUM (Item No. 1)		\$27,080.80		\$19,613.80			

<sup>\*</sup>Corrected calculations based on unit pricing

## Remarks/Exceptions:

Clark Computer Services - Delivery/Services can be performed no later than <u>15</u> calendar days from receipt of order. \*\*Clark Computer Services - NON-RESPONSIVE, they did not use the Revised Form of Proposal

Cyber Dreams, LLC - Delivery/Services can be performed no later than 14 or less calendar days from receipt of order.

Quotes Opened: March 6, 2024

			Electronic Data Solutions, Inc. Baltimore, MD		En-Net Services, LLC Frederick, MD		
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$1,213.62	\$24,272.40	\$1,033.08	\$20,661.60
TOTAL LUMP SUM (Item No. 1)			\$24,	272.40	\$20,6	61.60	

<sup>\*</sup>Corrected calculations based on unit pricing

## Remarks/Exceptions:

Electronic Data Solutions, Inc. - Delivery/Services can be performed no later than <u>30</u> calendar days from receipt of order. \*\*Electronic Data Solutions, Inc. - NON-RESPONSIVE, they did not use the Revised Form of Proposal

En-Net Services - Delivery/Services can be performed no later than 30 calendar days from receipt of order.

			GHA Technologies, Inc. Scottsdale, AZ		Invsatek, LLC Lanham, MD		
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$787.68	\$15,753.60 *	\$1,229.37	\$24,587.40
TOTAL LUMP SUM (Item No. 1)		\$15,753.60 *		\$24,587.40			

<sup>\*</sup>Corrected calculations based on unit pricing

### **Remarks/Exceptions:**

\*\*GHA Technologies, Inc. - NON-RESPONSIVE, they did not use the Revised Form of Proposal

Quotes Opened: March 6, 2024

			MNJ Technolog Buffalo (			r Lab, LLC rd, OH	
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$982.88	\$19,657.60	\$1,163.41	\$23,268.20 *
TOTAL LUMP SUM (Item No. 1)		\$19,6	57.60	\$23,20	68.20 *		

<sup>\*</sup>Corrected calculations based on unit pricing

# **Remarks/Exceptions:**

MNJ Technologies Direct, Inc. - Delivery/Services can be performed no later than <u>21</u> calendar days from receipt of order. Pricing is composed of two part numbers for solution to work. Licensing for the hardware is a required component.

\*\*Sunflower Lab, LLC - NON-RESPONSIVE, they did not use the Revised Form of Proposal

				Tampa Techies, LLC Apollo Beach, FL		Technology International, Inc. Lake Mary, FL	
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$2,128.73	\$42,574.60	\$20,000.00	\$400,000.00
TOTAL LUMP SUM (Item No. 1)		\$42,574.60		\$400,000.00			

<sup>\*</sup>Corrected calculations based on unit pricing

# **Remarks/Exceptions:**

<sup>\*\*</sup>Tampa Techies, LLC - NON-RESPONSIVE, they did not use the Revised Form of Proposal Price includes required DNA Advantage Licenses

				Teltek Systems, Inc. Frederick, MD		The FG Group, LLC Bowie, MD	
Item No.	Item Description	Unit of Measure	Qty.	Unit Price	Total Price	Unit Price	Total Price
1	CW9166I-MR Tri Band IEEE 802.11ax 7.78 Gbit/s Wireless Access Point 2.40GHz, 5GHz, 6GHz Internal MIMO Technology	Ea.	20	\$1,141.27	\$22,825.40	\$1,390.38	\$27,807.60
TOTAL LUMP SUM (Item No. 1)		\$22,8	25.40	\$27,80	07.60		

<sup>\*</sup>Corrected calculations based on unit pricing

## **Remarks/Exceptions:**

**Technology International, Inc.** - Estimated delivery is <u>6-10 months</u> after receipt of order and approved submittal.

Please note, due to COVID-19 there may be unanticipated disruptions and delays in the supply chains globally, for parts, components, equipment and internal manufacturing services such as engineering, production allocation, and logistics. This may result in manufacturing & delivery delays out of our control. We will do our best to communicate all such impacts and reduce the effect o any such delays. All delivery dates quoted are subject to manufacturer's confirmation at time of order.

Submittal data will be provided for approval after receipt of order (if applicable)

Customer to provide equipment and personnel to unload.

TII will provide MSO at time of payment confirmation. Customer is responsible for all tilting and registration of trailer (if Applicable).

**Teltek Systems, Inc.** - Delivery/Services can be performed no later than <u>14</u> calendar days from receipt of order.

**Disclaimer**: As a result of COVID19, like most other businesses we are experiencing major supply chain issues including rapidly inflating prices, shipping delays and limited product availability. As a result, prices may change from the time that you approve your quote and your order is placed, shipping may be more costly/may take longer than anticipated and we may need to recommend product substitutions. This will be communicated to you prior to placing your order to get your approval of any changes required to complete your order.

The FG Group, LLC - Delivery/Services can be performed no later than <u>30</u> calendar days from receipt of order. Does not include licenses as the response from Addendum No. 3. In addition all addendum's have been acknowledged, signed, and dated.